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1ZX1ZX&14X15+3X3X314=(36+9)XB14=1413
1
3 12x12x 5 =72
lZXlZX&14Xf%=1l&O4

113.04-72=41.04

(1) 4,10,18,28,40, -+

4+6+8+10+12=40
(2) 4+6+8+10+12+:---- +32=270
(3) 4+6+8+10+12+-----+42=460

20X21X-%=210

24

W 2 @ 120 @ 2L @ Y 5 s 4
81 3
(1) A=%B A:B=3:4
2
C=2A A:C=5:2
5
A:B:C=15:20:6 . 15:20:6
@ 200x-> =12  12:-8 =150  200-150 50 50 g
100 100
(3) 540012524320  43201.25 4000 4000
(4) (2004550)<30=25  25x3600-1000 90 90 km
(5) 2x30 60  60:(6-05) =20 p 120
11 11
4
M) 120 3 120%0.3 36 36
@ A 120x%+20=44 B 120-(44+36)=40 40
@) (44+36)><%=20 3620 16 16
5
3
(1) 360° x> 90 90
12
2
3 141.3 cm’?

72 cm? , 41.04 cm?
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2000+40=50
50x10+(10-7)= %

2000+% =12

40-7-12x2=9
28x50=1400

600=(50+ 220 )= 36
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